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Cldledov
& Calcula sin hacer la division:

63.000 : 100 = 6.400 : 10 =

540.000:1.000 = 41.000:100 =

12.000 : 100 = 980.000 : 10.000=

8.900 : 10 = 790.000: 100 =

320 : 10 = 256.000 : 1.000 =

a Averigua el término que falta:

23.000 : = 230 900 10 =

91.000 :100 = 57.000 ; = 57
620 10 = 105.000 = 1.050
46.000 : = 46 20.000 10 =

280.000 : = 28 37.400 ; = 374

» Quita los ceros y haz las divisiones:

6.200 : 900 = 34.200: 6.500 =
65.000 : 400 = 23.000 : 540 =
687.000 :2.300 = 980.000 : 5.000 =
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